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General Instructions:

(i) All questions are compulsory
(1) The question paper consists of 32 gquestions d. vde 1 1nto !.\“ﬂ{ms A B CDandk
Flmark sach Section f?‘;ﬁ_ﬁj‘.". t 6 questions of 2

s of § questions
Chmarks -l.f"")_,'lth‘.="’i.-.,!|Jn-D, ynorises of

f 10 14 e
wn b vomprises ol une quuln-i-n'-'(_'l"'-}ﬁi‘ Opean Lext theme

Section-A compris
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of 10 murhs.
{111 There is no overall choice

(1) Use of calculator is not permitted.
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Write the equation x = 5 1n the standard form of inear equation in two varnable
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In parallelogram ABCD ot the given higlye, - DB =60 and £ DBC =80°. Find £ABD.
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Question numbers S to 10 carry two marks each.
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. ¥ 2800Q =152 find the vaIuWnd ¥

T ST AgyA F faem m e G m»gﬂvr‘aw‘a,wm&mfmm}fmﬁ 2

TR TE A

1] are Jiamzters ol % through the cpposite vertices

If dizzonals of a cyclic qua Inlar 79!

§ the quadrilateral, prove that the quadrilatral s ar -.;-O
& @ owvre fE 2

N o @i 4k 3 ‘R M@0 \ i '\\Jll\\ A4

o g s pQ W PR TR /

20ST=20RQ Y ¢7(

1oy s ol By ST ard

A 13

Generated by CamScanner



/- <\ ©
& b +._>- ~N
\
I ) md 1 ar 1y stdes PQ and PE orospyg! 'N'-'\ 1r{ AC) :
tial (s , ORQ h? %

. / p\ (7. wN/ar "

\
—-—75\’1 . ‘.,g';.. o, ﬂ)

//O \\ 7 . < .‘;'Q
Q R \’yg

8 qmmimmam?szanm’?fﬁﬁwm 45 cm M, A famn 3| Ffaw) ~n",

* ' v v
Volume of a solid cylinder Is 6237 cm®. Find the fadius if its height is 4 S cm,
o Vo)
9 et faim ot &1 At fam ¢ 5 B e ) we aaRY s it o fafgm, ofz @ wsma & 2
ﬂlu class m.lrk of a p.lrfl ularclass 15 6 5 and 1ts « \-',4_4»"'; e s b Wate the next 3 classes. [t the}'
are continuous. '
..}SAO
10 g et v R R atren 042, .

Q,

ol & o .

A T SECTION-C o
& o " iy

ovA WEA 110 20 § YAF ¥ 3 5F R s pA

Question numbers 11 to 20 carry three marks each.
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In ADEF, P is mid - pomt of EF and Q is mid - point of DI If ar (ADQF) = 6cm?, find ar

(AEQF).
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A spherical ball is divided into two cqualdfalves. If the cuived surface area of each half 1s

56.57 cm?, find the volume of the spherical ball.
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14,18, x+2,x+4, 30, 4.
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The median of the following viseiy ativis arranged 1t the asending ofder 1s 24

14,18, 2 +2, x+4,30. M
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[n a kitchen, there are 54 Utensils consisting of bowl, plates and glasses The ratio of bowl,
plate and glassesis 3:1: 2. A Utensil is picked at random. Find the probability that .

(a) [tis a plate.
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r[ (b)  Itisnotabowl.
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Luestion numbers 21 w0 31 carry tour marks each.
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Write the equation of the lines drawn in for's= g g73ph Al find the area enclosed between them
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Equation of three lines a, b and c in the following graph are

x+y=0,x—y=0and y=2 (may not be written in an order).
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value is depicted through this question?
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P, Q, R and S are the mid — points of the sides AB 8L (D and DA respectively of a quadnlateral ABCD

in which AC = BD. Prove that PQRS5 15 2 rhombus
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The dimensions of a cuboid are in the ratio 432 If the total surface area of acubggims £212 B
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The table shows the prefered snachy i ely 13 be eater by 100 children

Fro‘uod Snack Numbér of children N
| , O
! \ ni 2: \ |
Lays chips \; g
f | Crax v

(3

Chees2 Balis TR q,>
'\
Uncle chips [ 3g 19
- V \
7/
- = -
run igos <
__._-_____——-——-"'_'__-_——'—_' s
o N -y g - u%
Hed mnmC o ! L Sl -
vy ot tha chid ChOsS =
- PPN 1o ‘I.. % b »
£rd the probat %)

‘3) crax and furieds
| b lays chips and cheese balls
| (c) only uncie chips

& *

N ——

Generated by CamScanner



T 912 F 31T 97 7461 ¥ &z it sy $2 o w87

(a_) Name the leader of the group which won the rock climbing competition?
(‘L:za ,-—-:_4' -.."-ﬁ 2 ;‘: ‘ 1’_'."._,"- ::.:1—- i1 ! - 3\ D.‘;}ajlu"S t_,':-; i i ’,,"_,Jl Jif| I I
at random Find the rdbability that the selected person Is

n]. .‘: ) -)'J:

(i) a member of Brigadier's team,

C

() Find the avzilable floor area for egchsstudent. Also find slant height of the tent.

(d) School arranged five mini busses of sealing/capacity of 14 seats  for going 1O
the adventure camp. According to critena of open text, how will you make the

sitting arrangement in busses?
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